COT 3100 Section 2 Homework #6 Fall 2006

Assigned: 11/21/06

Due: 12/1/06 (in recitation)

1) Let f : A ( B and g: B ( C denote two functions. Prove or disprove that if 
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 is surjective, then g is surjective.

2) Let f : A ( B and g: B ( C denote two functions. Prove or disprove that if 
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 is injective, then f is injective.

3) Let f : A ( B and g: B ( C denote two functions. Prove or disprove that if 
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 is surjective, then f is surjective.

4) Let f : A ( B and g: B ( C denote two functions. Prove or disprove that if 
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 is injective, then g is injective.

5) Let g: A ( A be a bijection. For n ( 2, define gn = g ( g ( ... ( g, where g is composed with itself n times. Prove that for n ( 1, that (gn)-1 = (g-1)n, by using induction on n.

6) Prove that following function is a bijection from the open interval (0,5) to the positive real numbers:
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7) Determine the inverse of the function defined in question #6.
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